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VYFEF: 1: YVEEF.:: VZEF.1; YgER: YMER(1);
VmeR(2X%X1); [ [1) and [2] 1= [3]

[1] m(l,l)M(l_):—qM(Z, 1) and m(1,1) >0 and M(1) >0 and Z =0
[2] VEEN.w: ViEe3: E(&,i,1)=qvy (:£(3),0) and E(£,4,2)=0
[3] e (f,E,m)©e.(f(O,0,1),Z,M,m(d,1))]
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Y€y YVIEF. 1 VmER(2X2); Vm €R(1);
[1] :>[[3f1,f2F1; [2] and [3] ](:)ez(f,O,m)]

[1] m(1,1) >0 and m(1,2) >0 and m’ (1) =m(1,1)+m(1,2) and Z =0
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[3) e:(f1,Z,0,M) and e:1( f2, Z,m’ , M)

{2 A0, 0, D= fit
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VFfEFs Va ER(R);
[V EENois f(E,1,1)=f(£,3,1)=f(&,1,2)=f(E,2,2)=0
and f(£,2,1)=f(£,3,2)=a(E(1)—E@))]=>es(f£Y,0)
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